
MATHS

BOOKS - RD SHARMA MATHS (HINGLISH)

TRIGONOMETRIC RATIOS

Others

1. The altitude 
 of a 
 in which 
 obtuse and, 


If BD=10cm and CD= 
determine 

Watch Video Solution

AD ΔABC, ∠A

AD = 10cm. 10√3cm, ∠A.

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_kMVT23Pug2VE


2. A rhombus of side 20cm has two angles of 
 each. Find

the length of the diagonals.

Watch Video Solution

600

3. 
 is a right triangle, right angled at 
 If 


 units, find the remaining two sides

and 

Watch Video Solution

ABC C.

A = 300andAB = 40

∠BofABC.

4. Evaluate the following:


Watch Video Solution

cos 370

sin 530

https://dl.doubtnut.com/l/_1VKmngXyzsI6
https://dl.doubtnut.com/l/_2ZDlvMcyem1j
https://dl.doubtnut.com/l/_yUHA8pBaApOE
https://dl.doubtnut.com/l/_Eg5S34SjUDt0


5. Find acute angles 
 if 

Watch Video Solution

AandB,

sin(A + 2B) = and cos(A + 4B) = 0, A > B.
√3

2

6. In an acute angled triangle 
if 

and 
find the value of 

Watch Video Solution

ABC, tan(A + B − C) = 1

, sec(B + C − A) = 2, A, BandC.

7. If each of 
 is a positive acute angle such that



 
 , 


 find the

values of 

Watch Video Solution

αβandγ

sin(α + β − γ) =
1

2

cos(β + γ − α) = and tan(γ + α − β) = 1,
1

2

α, βandγ.

https://dl.doubtnut.com/l/_Eg5S34SjUDt0
https://dl.doubtnut.com/l/_IoOPAT8ky1uA
https://dl.doubtnut.com/l/_mAkY9i2W7pyF


8. In a 
 right angled at 
 if 


 find all the six

trigonometric ratios of angle 

Watch Video Solution

ABC, A,

AB = 12, AC = 5andBC = 13,

B.

9. If 
find the other five trigonometric ratios.

Watch Video Solution

cosB = ,
1

3

10. In a 
 , right angled at 
 if 


find 

Watch Video Solution

ABC A,

AB = 5, AC = 12andBC = 13, sinB, cosCandtanB.

https://dl.doubtnut.com/l/_mAkY9i2W7pyF
https://dl.doubtnut.com/l/_l2lyeVPBLh7l
https://dl.doubtnut.com/l/_ln2IhPyCPOrm
https://dl.doubtnut.com/l/_ElAPWjPYgoi3


11. If 
 , find the values of other five

trigonometric ratios.

Watch Video Solution

sin θ =
a2 − b2

a2 + b2

12. If 
find other five trigonometric ratios.

Watch Video Solution

cos ecA = √10,

13. If 
show that 

Watch Video Solution

tanA = √2 − 1 sinA cosA =
√2

4

14. If 
find the value of cos ecA = 2, +
1

tanA

sinA

1 + cosA

https://dl.doubtnut.com/l/_Z50AyM7D3mL7
https://dl.doubtnut.com/l/_qs59olYZtCSx
https://dl.doubtnut.com/l/_TMm5IIYwyafq
https://dl.doubtnut.com/l/_W0dlHiyr2AHy


Watch Video Solution

15. Evaluate the following:


Watch Video Solution

sin 390 − cos 510

16. The value of 
 -2 (b)

2
(c) 1 (d)
0

Watch Video Solution

+ cot 10cot 20cot 30cot 900, is
tan 550

cot 350

17. If A + B is , then 

 is equal to:

Watch Video Solution

90∘

−
tanA. tanB + tanA. cot B

sinA. secB

sin2
B

cos2 A

https://dl.doubtnut.com/l/_W0dlHiyr2AHy
https://dl.doubtnut.com/l/_uJ5LI943z59q
https://dl.doubtnut.com/l/_doRz0U8S2zWm
https://dl.doubtnut.com/l/_MGkfGpTk8KTf


18. If 
 where 
 is an acute angle,

find the value of 

Watch Video Solution

tan 2A = cot(A − 180), 2A

A.

19. Prove the following:

Watch Video Solution

sin θ sin(900 − θ) − cos θ cos(900 − θ) = 0

20. Find an acute angle 
, when 

Watch Video Solution

θ =
cos θ − sin θ

cos θ + sin θ

1 − √3

1 + √3

https://dl.doubtnut.com/l/_MGkfGpTk8KTf
https://dl.doubtnut.com/l/_hofn3t7XYYkl
https://dl.doubtnut.com/l/_kBwy4qhPyq1i
https://dl.doubtnut.com/l/_vJEdPjdSUdVF
https://dl.doubtnut.com/l/_tfk84TFRZKLc


21. If  and ,
 then find A

and B 

Watch Video Solution

sin(A + B) = 1 cos(A − B) =
√3
2

.

22. Evaluate each of the following:

Watch Video Solution

cot 120cot 380cot 520cot 600cot 780

tan 50tan 250tan 300tan 650tan 850

23. Prove that:





Watch Video Solution

tan 100tan 150tan 750tan 800 = 1

tan 10tan 20tan 30tan 890 = 1 cos 10cos 20cos 30cos 1800 = 0

https://dl.doubtnut.com/l/_tfk84TFRZKLc
https://dl.doubtnut.com/l/_43ekfyr4BtIe
https://dl.doubtnut.com/l/_QrYJ9WkRr7fu
https://dl.doubtnut.com/l/_gRuEDrHJ2jNO


24. If 
 prove that


Watch Video Solution

A + B = 900,

√ − = tanA
tanA tanB + tanA cot B

sinA secB

sin2 B

cos2 A

25. If 
 whre 
 are acute angles, find

the value of 
.

Watch Video Solution

sin 5θ = cos 4θ, 5θand4θ

θ

26. If 
, find the value of 

Watch Video Solution

tan θ + = 2
1

tan θ
tan2 θ +

1

tan2 θ

https://dl.doubtnut.com/l/_gRuEDrHJ2jNO
https://dl.doubtnut.com/l/_9I2Dr6VDPZbw
https://dl.doubtnut.com/l/_0LH8wzUos0Fe


27. Evaluate each of the following in the simplest form:




Watch Video Solution

cos ec300 + cot 450 cos 300cos 450 − sin 300sin 450

tan 300sec 450 + tan 600sec 300

sin 300cos 450 + cos 300sin 450

28. In a right triangle 
 , right angled at 
 the ratio of 


 is 
 . Find the values of
 
and (ii) 

Watch Video Solution

BC B,

AB → AC 1: √2
2 tanA

1 + tan2 A
2 tanA

1 − tan2 A

29. Find the value of 
 in each of the following:
 (i)

,
 (ii)

x

tan 3x = sin 450cos 450 + sin 300

https://dl.doubtnut.com/l/_J6w1IBYNtsLJ
https://dl.doubtnut.com/l/_Y3baAJPHaulb
https://dl.doubtnut.com/l/_xmXYpBn5dOg8


 , (iii)

Watch Video Solution

cos x = cos 600cos 300 + sin 600sin 300

sin 2x = sin 600cos 300 − cos 600sin 300.

30. If 
 is an acute angle and 
 find the

value of 
.

A. 0

B. 1

C. 2

D. 3

Answer: C

Watch Video Solution

θ tan θ + cot θ = 2,

tan7 θ + cot7 θ

https://dl.doubtnut.com/l/_xmXYpBn5dOg8
https://dl.doubtnut.com/l/_eMxe4PNL5WBC


31. Prove that: 

Watch Video Solution

=
cos 300 + sin 600

1 + cos 600 + sin 300

√3

2

32. Find the value of 
 in each of the following:
 (i)


(ii) 
(iii) 

Watch Video Solution

θ

2 sin 2θ = √3 2 cos 3θ = 1 √3 tan 2θ − 3 = 0

33. An equilateral triangle is inscribed in a circle of radius 

cm. Find
its side.

A. 

B. 

6

6√3

6

√3

https://dl.doubtnut.com/l/_WiVUu169NrDk
https://dl.doubtnut.com/l/_p20mkzNu6anx
https://dl.doubtnut.com/l/_A0TgDmjdFZTG


C. 

D. 

Answer: A

Watch Video Solution

8√3

2√3

34. If  and

Watch Video Solution

tanA = 1

tanB = √3, evaluate cosA cosB − sinA sinB.

35. If 
 , where 4A is an acute angle,

find the value of A.

Watch Video Solution

sec4A = cos ec(A − 20∘ )

https://dl.doubtnut.com/l/_A0TgDmjdFZTG
https://dl.doubtnut.com/l/_Jq7xfxiv8mw0
https://dl.doubtnut.com/l/_9XbcY8CijIEF


36. Evaluate :

Watch Video Solution

4(sin4 300 + cos4 600) − (sin2 600 − cos2 450) + tan2 6002

3

1

2

37. Evaluate :


Watch Video Solution

+ − 4cos 500 cos ec400sin 500

cos 400

cos ec400

sec 500

38. Evaluate :


Watch Video Solution

tan 350tan 400tan 450tan 500tan 550

https://dl.doubtnut.com/l/_9XbcY8CijIEF
https://dl.doubtnut.com/l/_1NW1h0EPBU14
https://dl.doubtnut.com/l/_I6Fu0sUPkqoL
https://dl.doubtnut.com/l/_zEflQLBl28pC


39. Evaluate :

Watch Video Solution

cos ec(650 + θ) − sec(250 − θ) − tan(550 − θ) + cot(350 + θ)

40. Evaluate :


Watch Video Solution

tan 70tan 230tan 600tan 670tan 830

41. Evaluate :

Watch Video Solution

− −
2sin 680

cos 220

2cot 150

5tan 750

3tan 450tan 200tan 400tan 500tan 700

5

https://dl.doubtnut.com/l/_5TMz1p69OzPt
https://dl.doubtnut.com/l/_pSacln6CAdPM
https://dl.doubtnut.com/l/_ATzeaEa61a6M


42. Evaluate :
 (

`

Watch Video Solution

) − ( )
3cos 550

7sin 350

4
7

cos 700 cos ec200

tan 50tan 250tan 450tan 650tan 850

43. If 
 , verify
 that (i) 


 (ii)


 (iii)

Watch Video Solution

A = B = 60∘

cos(A − B) = cosA cosB + sinA sinB

sin(A − B) = sinA cosB − cosA sinB

tan(A − B) =
tanA − tanB

1 + tanA tanB

44. If , then the value of  is

A. 

5 tan θ − 4 = 0
5 sin θ − 4 cos θ

5 sin θ + 4 cos θ

5

3

https://dl.doubtnut.com/l/_RSGpnHrBa8jY
https://dl.doubtnut.com/l/_vjTGFfcFTEQY
https://dl.doubtnut.com/l/_h5iFkeDpvVVE


B. 

C. 

D. 

Answer: C

Watch Video Solution

5

6

0

1

6

45. If  , then  is equal to

A. 

B. 

C. 

D. 

8 tanx = 15 sinx − cos x

8

17

17
7

1

17

7
17

https://dl.doubtnut.com/l/_h5iFkeDpvVVE
https://dl.doubtnut.com/l/_HOdi2KlZJeNb


Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_HOdi2KlZJeNb

